5 INCH MD-Gamma Ray Log
(Scale: 5":100' (10"))

PRODIRECTIONAL

Company: Professional Directional State: KS
Well: Croft Farms 3407 31-1H
Field: Mississippi Lime

Well ID: 15-077-22124-01-00
Job Number: LKS6116414

County: Harper
Country: USA

Elev KB: 22' + 1,338 = 1,360’
Elev DF: 22'
Elev GL: 1,338’

Location: Sec. 31 T34S, R7TW
Operator 1: Ronny Golightly
Operator 2: Gary Funderburk

Comment 1: LAT:37°3'0.956 N/ LONG: 98°7' 13.161 W

Comment 2: Y: 139902.00 / X: 2110813.00

Comment 3: Mud Density (Ib/bbl): 8.4 / Funnel Viscosity (sec/qt): 29

Comment 4: Flowline Temp (DegF): 75°/ HTHP Filtrate (mI/30 min): 62.0

Comment 5: Max Temp (DegF): 171° (NAD 27° Gamma Ray in Reference to Elev KB (Kansas South 1502)

Hole Data Casing Record

Size From To Size From To

12 1/4 0' 816' 95/8 0' 816'

8 3/4 816' 5,300' 7" 816' 5,300’

61/8 5,300’ 9,268’
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 3027 3020 3020 2605 3022
Cal Factor 4.85 4.85 4.85 2.699 2.699
Gamma Offset 51 53' 58' 44' 44'
Start Depth 3,167' 3,918’ 4,604 5,248’ 7,384’
Start Date 12/30/2014 12/31/2014 01/02/2015 01/06/2015 01/09/2015
Start Time 11:23 10:59 07:49 11:12 05:45
End Depth 3,918’ 4,658' 5,248’ 7,384' 9,224’
End Date 12/31/2014 01/01/2015 01/04/2015 01/08/2015 01/15/2015
End Time 11:31 21:24 03:30 15:50 16:11
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#122 MD:7041.0 TVD:4815.0 1:87.6 A:167.0 VS:2603.7

| #123 MD:7071.0 TVD:4815.9 1:89.2 A:167.3 VS:2633.7

#124 MD:7101.0 TVD:4815.9 1:90.5 A:166.9 VS:2663.7

#125 MD:7132.0 TVD:4815.9 1:89.7 A:166.4 VS:2694.7

#126 MD:7162.0 TVD:4816.1 1:89.6 A:166.4 VS:2724.7
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#127 MD:7193.0 TVD:4816.3 1:89.4 A:166.8 VS:2755.7

#128 MD:7223.0 TVD:4816.7 1:89.1 A:166.7 VS:2785.7

#129 MD:7253.0 TVD:4817.0 1:89.8 A:167.1 VS:2815.7

#130 MD:7283.0 TVD:4817.1 1:90.0 A:166.9 VS:2845.7

#131 MD:7313.0 TVD:4817.2 1:89.5 A:166.5 VS:2875.7

#132 MD:7342.0 TVD:4817.6 1:89.1 A:166.3 VS:2904.7

#133 MD:7373.0 TVD:4818.2 1:88.5 A:166.7 VS:2935.7
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#134 MD:7404.0 TVD:4819.1 1:88.4 A:166.5 VS:2966.7

#135 MD:7434.0 TVD:4819.8 1:88.9 A:166.4 VS:2996.6

#136 MD:7464.0 TVD:4820.2 1:89.3 A:166.5 VS:3026.6

#137 MD:7494.0 TVD:4820.5 1:89.6 A:166.2 VS:3056.6

#138 MD:7524.0 TVD:4821.0 1:88.7 A:166.6 VS:3086.6

#139 MD:7554.0 TVD:4821.7 1:88.3 A:166.9 VS:3116.6

#140 MD:7584.0 TVD:4822.5 1:88.7 A:166.9 VS:3146.6
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#141 MD:7615.0 TVD:4823.2 1:88.8 A:166.9 VS:3177.6

#142 MD:7645.0 TVD:4823.8 1:89.0 A:167.1 VS:3207.6

#143 MD:7676.0 TVD:4824.3 1:89.1 A:167.1 VS:3238.6

#144 MD:7707.0 TVD:4824.7 1:89.4 A:167.6 VS:3269.6

#145 MD:7737.0 TVD:4824.9 1:89.8 A:167.9 VS:3299.6

#146 MD:7767.0 TVD:4825.2 1:89.1 A:167.4 VS:3329.6

#147 MD:7798.0 TVD:4825.8 1:88.6 A:167.6 VS:3360.6

#148 MD:7828.0 TVD:4826.6 1:88.4 A:168.1 VS:3390.6I
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#149 MD:7858.0 TVD:4827.4 1:88.4 A:168.4 VS:3420.5

#150 MD:7889.0 TVD:4828.0 1:89.4 A:168.4 VS:3451.5

#151 MD:7919.0 TVD:4828.3 1:89.8 A:168.5 VS:3481.5

#152 MD:7950.0 TVD:4828.3 1:89.9 A:168.7 VS:3512.5

#153 MD:7981.0 TVD:4828.6 1:89.1 A:168.6 VS:3543.5

#154 MD:8012.0 TVD:4829.2 1:88.6 A:169.2 VS:3574.4

#155 MD:8044.0 TVD:4830.3 1:87.7 A:169.0 VS:3606.4
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#156 MD:8075.0 TVD:4831.7 1:86.9 A:168.3 VS:3637.3

#157 MD:8107.0 TVD:4833.5 1:86.7 A:167.7 VS:3669.3

#158 MD:8139.0 TVD:4835.3 1:86.7 A:168.1 VS:3701.2

#159 MD:8171.0 TVD:4837.1 1:87.0 A:168.3 VS:3733.2

#160 MD:8202.0 TVD:4838.8 1:86.9 A:168.2 VS:3764.1

#161 MD:8234.0 TVD:4840.4 1:87.3 A:167.8 VS:3796.1

#162 MD:8265.0 TVD:4841.7 1:87.8 A:167.3 VS:3827.0
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#163 MD:8297.0 TVD:4842.9 1:88.0 A:166.7 VS:3859.0

#164 MD:8328.0 TVD:4843.8 1:88.7 A:167.0 VS:3890.0

#165 MD:8360.0 TVD:4844.4 1:89.1 A:167.3 VS:3922.0

#166 MD:8391.0 TVD:4844.8 1:89.4 A:167.5 VS:3953.0

#167 MD:8423.0 TVD:4845.1 1:89.5 A:167.5 VS:3985.0

#168 MD:8454.0 TVD:4845.6 1:88.6 A:167.6 VS:4016.0

#169 MD:8486.0 TVD:4846.4 1:88.6 A:167.8 VS:4048.(i
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#170 MD:8518.0 TVD:4847.0 1:89.1 A:168.2 VS:4079.9

#171 MD:8550.0 TVD:4847.5 1:89.3 A:167.3 VS:4111.9

#172 MD:8581.0 TVD:4847.9 1:89.3 A:167.3 VS:4142.9

#173 MD:8613.0 TVD:4848.4 1:88.9 A:166.6 VS:4174.9

#174 MD:8644.0 TVD:4848.9 1:89.1 A:166.7 VS:4205.9

#175 MD:8676.0 TVD:4849.2 1:89.7 A:167.4 VS:4237.9

H#176 MD-QR70R8 N TVD-4840 § |I'RQO R A1R7 N VS:42R9 O
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#177 MD:8740.0 TVD:4850.3 1:88.0 A:166.7 VS:4301.9

#178 MD:8771.0 TVD:4851.8 1:86.2 A:165.9 VS:4332.9

#179 MD:8802.0 TVD:4854.0 1:85.8 A:165.8 VS:4363.8

#180 MD:8834.0 TVD:4856.2 1:86.4 A:165.8 VS:4395.7

#181 MD:8866.0 TVD:4858.1 1:86.8 A:165.4 VS:4427.7

#182 MD:8897.0 TVD:4859.6 1:87.4 A:165.3 VS:4458.6
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#183 MD:8929.0 TVD:4860.9 1:88.0 A:164.4 VVS:4490.6

#184 MD:8961.0 TVD:4862.0 1:88.0 A:164.0 VS:4522.5

#185 MD:8992.0 TVD:4862.9 1:88.9 A:164.1 VS:4553.5

#186 MD:9024.0 TVD:4863.3 1:89.6 A:164.7 VS:4585.4

#187 MD:9056.0 TVD:4863.5 1:89.6 A:164.8 VS:4617.4

#188 MD:9087.0 TVD:4863.7 1:89.7 A:164.8 VS:4648.4

#189 MD:9119.0 TVD:4863.9 1:89.7 A:164.8 VS:4680.4




#190 MD:9150.0 TVD:4864.0 1:89.9 A:164.8 VS:4711.4

#191 MD:9182.0 TVD:4864.0 1:90.0 A:164.8 VS:4743.3

#192 MD:9212.0 TVD:4864.0 1:90.0 A:164.8 VS:4773.3
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